=
<

o

eamlinef)3

=
<

a(d cot(d))

10721

o < &
IS F 4
4 1.94---- otttk
¥ Tl :
10 1

2 3
¥ (pca tbeamiindf

traan

EBU

etraanIdFlIeleS _v2_prelimWPM epoch4

|g iles125_v2_prelimWPM tp
trainOldFiles1257v2~ ANDPLessRé aln epoch4

(<]

5)
1]
=
=
k)
L
5
1072
O 1.0
=
g 12
1.1}
1
107
=
5
g
<
=]
o
=2
o}

10‘1_ e
107
2 F
® l14F
14 o

1.2
i
10
~ 1
o [
= L.
o
S L.
o L
5

2 3
poT (PCA t%)obeamlin%)o

1=

z

oo a,) (cm)

107}

[ T
P
U LARRNRRRRRRRRR}

2 3
! TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


